
Chemistry 211 Name ____________________________
Chapter 24 Quiz #1

1.  Which one of the following is not a resonance form of the phenolate ion
shown below?

O

HO

O

HO

O

HO

O

HO

O

HO

1)                               2)                             3)                                 4)

1)  1 2)  2 3)  3 4)  4

2.  What is the product of the following reaction?

O

Cl OH

NaOH, H2O

C O

O

C

O

OH

O CO2Na CO2NaHO

1)                                                                  3)

2)                                                                  4)

1)  1 2)  2 3)  3 4)  4
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3.  Which reaction sequence below converts para-bromoaniline into para-
bromophenol?

H2N Br
NaNO2, HCl        H3PO2

H2O, OoC

H2SO4

    HNO3              NaOH
H2N Br

H2O, OoC            warm

NaNO2, HCl         H2O

H2N Br
pyridine

(CH3C)2O          NaOH

O

H2N Br

1)

2)

3)

4)

1)  1 2)  2 3)  3 4)  4

4.  Indicate where the isotopically labelled carbon atom (*) is located in
the product.

O

heat

OH

1     2    3

1)  #1
2)  #2
3)  #3
4)  equally distributed between #1 and #2

5.  Arrange the following in order of decreasing acidity.

A. benzoic acid (C6H5CO2H)
B. benzyl alcohol (C6H5CH2OH)
C. phenol (C6H5OH)

1)  C>A>B
2)  C>B>A
3)  A>B>C
4)  A>C>B
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6.  Which compound in each of the pairs of compounds shown below is the
stronger acid?

           A. phenol and B. cyclohexanol

           C. phenol and D. p-nitrophenol

1)  A and C 2)  A and D 3)  B and C 4)  B and D

7.  Identify the reagent(s) needed to carry out the following conversion.

OH

OH

?

O

O

1)  Na metal 2)  LiAlH4
3)  Na2Cr2O7, H2SO4/H2O 4)  NaOH

8.  Which one of the following reacts with aqueous HCl to give phenol?

1)  C6H5CN 2)  CH3CO2C6H5 3)  C6H5CH=O 4)  C6H5NHNH2

9.  Propose a mechanism for the reaction shown below.

O

O

OCH3CH3O

NaOCH2CH3 (xs)

O

O

OCH2CH3CH3CH2O

10.  Which one of the following ethers is the most unreactive to cleavage
with HBr?

1)  C6H5OCH2C6H5 2)  C6H5OC6H5
3)  H2C=CHCH2OCH2CH=CH2 4)  (CH3)3COC(CH3)3

11.  Which one of the following phenols is most acidic?

OH

OCH3

OH

Cl

OH

NO2

OH

CH3

1)                         2)                        3)                        4)

1)  1 2)  2 3)  3 4)  4
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12.  Which of the following methods works best to synthesize the compound
shown below?

CH2CO2HHO

HO CH2Br

HO CH2Br

HO CH2CH3

HO1)

2)

3)

4)

(CH3C)2O           H3O+
O

AlCl3

Mg               (1) CO2

diethyl ether     (2) H3O+

KCN         H2O, H+

heat

K2Cr2O7, H2SO4

H2O

1)  1 2)  2 3)  3 4)  4
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